
Page 1 of 4                                     DS 1004    CFB    11/09/06  Rev 1  

Staywire Frame
CLY 1004

Illustrated Parts List



5

6

10

4

7

9

11
8

12

3

1

11

9

2

13

Page 2 of 4                                     DS 1004    CFB    11/09/06  Rev 1  



Page 3 of 4                                     DS 1004    CFB    11/09/06  Rev 1  

Ref # Part # Description Qty
1 ZZ 1004 001 TOP BODY 1

Excludes detachable arms and end caps.

2 ZZ 1004 002 LOWER BODY 1
Excludes rubber feet.

3 ZZ 1004 003 DETACHABLE ARM 2
4 ZZ 1004 004 FEEDER ARM 1
5 ZZ 1004 005 FEEDER EYE 1
6 ZZ 100 0820 M8 X 30MM SCREW PLATED 1
7 ZZ 101 0616 M6 X 16MM GRUB SCREW 1
8 ZZ 105 04 R-CLIP 4MM 2
9 ZZ 110 20 M20 FLAT WASHER 2
10 ZZ 120 08H M8 NUT HALF 1
11 ZZ 140 005 BEARING 6004 2RS 2
12 ZZ 200 004 PLASTIC END CAP 6
13 ZZ 200 005 RUBBER FOOT 5



    Clydesdale Ltd.
Instal House, 3 Sunbeam Rd,
Woburn Rd Industrial Estate
Kempston, Beds MK42 7BZ
Tel:   (0044) (0) 1234 855855
Fax:  (0044) (0) 1234 855800

CLYDESDALE Ltd. Specialist manufacturer and
supplier of overhead line and underground cable 

installation equipment, associated tools and 
personal protective equipment (PPE).

www.clydesdale.ltd.uk


